Review pg 223 #6, 8, 10, 11, 14, 15, 19, 21-23, 25, 28-31, 34, 37, 42-52

Quick Review Exercises

A solution of an inequality is any number that makes Graph each inequality.
vinecguality true. You can indicate all the solutions of :
the incguality t , ons of 6.x =5 o—y

an incquality on the graph. A closed dot indicates that
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the endpoint is a solution. An open dot indicates that the gt s “ll o L '
endpoint is ot a solution. 8.10 = p p<io
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Whatisthe graph ol v = —47 Write an inequality for each graph. @
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Quick Review Exercises
You can use the addition and subtraction properties Salve each inequality. Graph your solutions.
of ineguality to transform an inequality into a simpler, " e R R
eguivaicnt ineguality. N
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What are the solutionsof x + 4 =57
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Subtract 4 from each side.
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x=1 Simplify.

19. Allowance You have at most $15.00 to spend. You
want to buy a used CD that costs $4.25. Write and
solve an inequality w find the possibie additional
amounts you can spend.
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Quick Review

You can use the multiplication and division properties of

inequality to transform an inequality. When you multiply or

divide cach side of an incquality by a negative number, you
have to reverse the inequality symbol.

Example
Whatare the solutions of =31 > 127
—3x > 12
=3x . 12 Divide each side by 3. Reverse the
3 4 inequality symbol.
X< ~4  Simplify.

Exercises
Solve each inequality. Graph your solutions.
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28. Part-Time Job You carn $7.25 per hour baby-sitting.
Write and solve an inequality to find how many full
hours yon must work to earn at least $200.
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Quick Review Exercises

When vou solve inegualities, sometimes vou need to use
muare than one step. You need to gather the variable terms
on one side of the inequality and the constant terms on the
other side.

Example
What are the solutionsof 3x + 5> —1?

3x +5> ~1

3x > —6  Subtract 5 from each side.
x > —2  Divide each side by 3.
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Solve each inequality.
29, 4k - 1 =
30.
31.

-3
6(c — 1) < —18

3t > 51+ 12

34.3v + 5= 2¢ — 8

37. Commission A salesperson earns $200 per week
plus a commission equal to 4% of her sales. This
week her goal is to earn no less than $450. Write and

solve an inequality to find the amount of sales she
- 2es A

must have to reach her goal.
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Quick Review

Two inequalitics that are joined by the word and or the
word or are called compound inequalities. A solution

Exercises

Solve each compound inequality.

1 |
42, -2 =d+ 5 < 45
of a compound incquality involving and makes both “r :
inequalities truc. A solution of an inequality involving or 43. 0 < —-8b =12
makes cither ineguality true. A, 2t = —4 or 71 = 49
Example 45, 5m < —~100r3m > 9
What are the solutionsof =3 sz — 1 <32 46. -1 =g - 3 =2
-3I<z-1<3 47.9.) > l."p = -6.3
e Add 1 to each part of the inequality 48, Climate A town's high temperature for a given
month is 88°Ehc low temperature is 65°F.
Write a compound inequality to represent the range
c\_.;.L XA 60 < -8v £\2 of temperatures for the given month.
- l =L = -y - -
‘42 : i -+ 43 ° i 4411—.“! oc 7t>49 455~.< e 'ra—;’-;'

CL'l or 1 ’D

CS>p2us

| . ki
- ((AszpZts

48

(L5 % £ 3%)

Quick Review

Solving an equation or inequality that contains an absolute
value expression is similar 1o solving other equations

and inequalities. You will need to write two equations or
inequalitics using positive and negative values. Then solve
the equations.

Example

Whatisthe solutionof |x| — 7 = 37

Exercises

Solve each equation or inequality. If there is no solution,
write no solution.

49. |y| = 3
5.4 + [r+2] =7

-y o
\r+2\=3
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50. |n + 2|
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52. |x+ 3| = -2

ixl -7=3
|x] = 10 Add 7 to each side,
x = 10orx = =10 Definition ¢f absolute value
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